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And no payment for being seduced - 1% K9

Overview

The &n>2 stated that a naxm» does not receive 01p, neither for 01X nor for »n».!
mooIn explains why it was necessary for the Xn»172 to teach us that the nixnn does
not receive a "N’d payment.

mooin asks
= 9933 279902 1Y PINT INNY M5 VP INNPN DNIAN 13 PYNY 1%39Y NYP

The X' 2w has a difficulty; according to the X713 shortly, which establishes the

case of Nixn» by a 791, so why mention that a nIX»n does not receive N9 -
= DINDN NIIRY NP IP2AN NONNT 203P NY PR NMON NIYI Y5 XN

Since every nmip» ;19v1 has no oip since she forgives him the 0ip, this applies
even by a 19v1, who was not niNmn»!

MDDIN answers:
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And one can say, that the Xn°°72 mentions that a nix»»7 771 has no "n%» (even
though every [7721n°] 77v1 has no "1n°9) on account that he mentions %2 by the
other cases of 19X ,nY and ¥1 ow 2wn MRXY7, where he needs to mention 1n°s.

Summary
There is no purpose in stating ™n*® by a NIRHAT (7).

Thinking it over

mooIn answers that he mentions "N by NiXM“» because (23X) he mentions it by the
others. This answer of '23X', can we apply it universally, or is it limited to specific
cases like the one here?

! See previous naxmna 7" Moo,

ZR,15.

3 moon is referring to a N> 771 that she has no 03p, since she agreed to be with him, so presumably she is 7m the
oip. However, a 77v1 who has a father, she cannot be 91 the 01p, for it belongs to the father. The case of nixmn here
is by =0 77wy, for if her father was w7pn her, she cannot be nixnn.

4 See ‘Thinking it over’.
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